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Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.

P से V तक सात व्यक्ति एक बैठक 

कक्ष में आते हैं। V, Q के ठीक 

पहले आया। R और S के बीच 

केवल तीन व्यक्ति आए। S, P के 

ठीक बाद आया। कोई भी P और 

Q के बीच ऐसा नहीं आया क्तक Q, 

P से पहले आए। केवल एक व्यक्ति 

R और T के बीच में आया।
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Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.
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172 321 525 643 268

If all the numbers are arranged in ascending order based on the third digit of the 

number then what is the sum of the numbers thus formed which is second from the 

right and the number which is second from the left?

यक्तद सभी संख्याओ ंको संख्या के तीसरे अंक के आधार पर आरोही क्रम में व्यवक्तथित क्तकया जाता ह ैतो

इस प्रकार बनी संख्याओ ंका योग क्या ह ैजो दायें से दसूरे थिान पर ह ैऔर संख्या जो बायें से दसूरी ह?ै

01. 891 02. 780

03. 642 04. 497

05. 697
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172 321 525 643 268

If we interchange the first digit with the second digit of each number and then we 

divide the first digit of the first number from right to the first digit of the third 

number from the left. What quotient will we get?

यक्तद हम पहले अंक को प्रत्येक संख्या के दसूरे अंक से बदल दें और क्तिर हम पहली संख्या के पहले अंक 

को दाए ंसे तीसरे संख्या के पहले अंक में बाए ंसे क्तवभाक्तजत करते हैं। हमें क्या भागिल क्तमलेगा?

01. 2 02. 2.5

03. 3 04. 3.5

05. 1.2
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172 321 525 643 268

If we interchange the first and third digit of each number then arrange all the 

numbers in ascending order then which of the following number thus formed is 

third lowest?

यक्तद हम प्रत्येक संख्या के पहले और तीसरे अंक को आपस में बदल दें तो सभी संख्याओ ंको आरोही 

क्रम में व्यवक्तथित करें, तो इस प्रकार बनी क्तनम्न में से कौन सी संख्या तीसरी सबसे ोोीी संख्या ह?ै

01. 172 02. 321

03. 643 04. 525

05. 268
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172 321 525 643 268
If we add one in the even digit and subtract one from the odd digit in all the 

numbers then arrange all numbers in ascending order then which one is the 2nd 

lowest number?

यक्तद हम सम अंक में एक जोड़ते हैं और सभी संख्याओ ंमें क्तवषम अंक में से एक घीाते हैं तो सभी 

संख्याओ ंको आरोही क्रम में व्यवक्तथित करते हैं तो 2nd सबसे ोोीी संख्या कौन सी ह?ै

01. 525 02. 268

03. 643 04. 172

05. 321
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If it is possible to make only one meaningful word with the second, the fifth, the sixth and 

the seventh letter of the word JUDGEMENT using each letter only once in each 

word,which of the following will be the last letter of that word. If no such word can be 

made, give answer ’G’ and if more than such word can be made, give answer ‘M’.

यक्तद JUDGMENT शब्द के दसूरे, पांचवें, ोठे और सातवें अक्षर से प्रत्येक शब्द में केवल एक बार प्रत्येक 

अक्षर का उपयोग करके केवल एक अिथपरू्थ शब्द बनाना सभंव ह,ै तो क्तनम्नक्तलक्तित में स ेउस शब्द का अकं्ततम 

अक्षर कौन सा होगा। यक्तद ऐसा कोई शब्द नहीं बनाया जा सकता ह,ै तो उत्तर 'G' दें और यक्तद इससे अक्तधक शब्द 

बन सकते हैं, तो उत्तर 'M' दें। 

01. E 02. G

03. R 04. M

05. S
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How many such pairs of letters are there in the word ALLAHABAD 

which has as many letters between them as they have in English alphabet 

series?

ALLAHABAD शब्द में अक्षरों के ऐसे क्तकतने यगु्म हैं क्तजनके बीच उतने ही अक्षर हैं क्तजतने

क्तक उनके बीच अगं्रेजी वर्थमाला श्रिंला में हैं?

01. Eleven 02. Seven

03. Three 04. Eight

05. Five
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Statements 

20 = 21, 21 ≥ 25, 25 ≤ 7, 7 > 12, 12 > 14

Conclusions

A. 20 > 21 

B. 21 < 12

C. 7 > 14 

D. 20 < 14

E. 21 > 7
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Statements 

20 = 21, 21 ≥ 25, 25 ≤ 7, 7 > 12, 12 > 14
Conclusions

A. 7 ≤ 14 

B. 14< 35

C. 20 ≥ 25 

D. 7 < 12

E. 21 > 7
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Statements 

28 = 23, 23 ≥ 25, 25 ≤ 17, 17 > 12, 12 > 14
Conclusions

A. 14 ≤ 17 

B. 23 < 25

C. 23 = 17 

D. 17 > 14

E. 28 < 12
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Statements 

3 ≥ 4 , 4 > 1, 1 ≤ 10, 10 = 19, 19 ≤ 6
Conclusions

A. 3 ≥ 6 

B. 6 = 3

C. 4 > 10 

D. 10 ≤ 6

E. 4 = 19
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Statements 

28 = 23, 23 ≥ 25, 25 ≤ 17, 17 > 12, 12 > 14
Conclusions

A. 23 ≤ 17 

B. 17 = 28

C. 14 = 28 

D. 12 = 25

E. 28 ≥ 25
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In a Certain code LOYALTY is written as MPZBMUZ ,than find the 

code for PROCLAIM ?

एक निनित कोड में LOYALTY का कोड MPZBMUZ निखा गया है तो

PROCLAIM का कोड क्या होगा ?

(1) QSPDDBJN

(2) QSPDBMJN

(3) QSPDNBJN

(4) QPSDMBJN

(5) None of these
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In a Certain code NAME is written as 276 ,than find the code for CAR 

?

एक निनित कोड में NAME का कोड 276 निखा गया है तो CAR का कोड क्या

होगा ?

(1) 211

(2) 216

(3) 361

(4) 196

(5) None of these
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In a Certain code LAPTOP is written as 19 ,than find the code for 

COMPUTER ?

एक निनित कोड में LAPTOP का कोड 19 निखा गया है तो COMPUTER का

कोड क्या होगा ?

(1) 18

(2) 19

(3) 20

(4) 21

(5) None of these
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‘game you they know’ is written as ‘37 39 42 74’

‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’

‘we match place right’ is written as ’38 55 63 72’

Which of the following is the code for ‘we’?/ ‘we’ के क्तलए कूी क्या है

(1) 38                       

(2) 72                       

(3) 63

(4) 55                       

(5) 54
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Statements-

Only a few PQ01 are ER03.

All MV01 are ER03.

Conclusions-

I. All PQ01 can Never be MV01.

II. Some MV01 are PQ01.

किन-

केवल कुो PQ01 ER03 हैं। 

सभी MV01 ER03 हैं। 

क्तनष्कषथ-

I. सभी PQ01 कभी भी MV01 नहीं

हो सकते। 

II.कुो MV01, PQ01 हैं।
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Statements-

Only a few PQ01 are ER03.

All MV01 are ER03.

Conclusions-

I. All PQ01 can Never be MV01.

II. Some MV01 are PQ01.
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Statements-

Only a few BZ05 are ER03.

No BZ05 is HS01.

Conclusions-

I. Some HS01 are definitely not 

ER03.

II. All ER03 can never be HS01.

किन-

केवल कुो BZ05 ER03 हैं। 

कोई BZ05 HS01 नहीं ह।ै 

क्तनष्कषथ-

I. कुो HS01 क्तनक्तित रूप से ER03 नहीं 

हैं। 

II. सभी ER03 कभी भी HS01 नहीं हो 

सकते।
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Statements-

Only a few BZ05 are ER03.

No BZ05 is HS01.

Conclusions-

I. Some HS01 are definitely not 

ER03.

II. All ER03 can never be HS01.
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Statements-.

Only a few EV11 are GT21.

Some FS01 are EV11.

No GT21 is a FS01.

Conclusions-

I. All FS01 are GT21.

II. Some EV11 are not FS01.

किन-. 

केवल कुो EV11 GT21 हैं। 

कुो FS01 EV11 हैं। 

कोई GT21 FS01 नहीं ह।ै 

क्तनष्कषथ-

I. सभी FS01, GT21 हैं। 

II. कुो EV11 FS01 नहीं हैं।
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Statements-.

Only a few EV11 are GT21.

Some FS01 are EV11.

No GT21 is a FS01.

Conclusions-

I. All FS01 are GT21.

II. Some EV11 are not FS01.
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Statements: 

All Greens are Yellows. 

No Yellows are Black. 

Conclusions: 

I. No Greens are Black. 

II. Some Greens are Black.

किन: 

सभी ग्रीन येलो हैं. 

कोई येलो ब्लैक नहीं ह.ै 

क्तनष्कषथ: 

कोई ग्रीन ब्लैक नहीं हैं।

कुो ग्रीन ब्लैक हैं.
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Statements: 

All Greens are Yellows. 

No Yellows are Black. 

Conclusions: 

I. No Greens are Black. 

II. Some Greens are Black.
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Statements: 

All Chairs are Sofas. 

Only a few Sofas are Beds. 

No Beds are Curtains. 

Conclusions: 

I. Some Sofas are not Beds. 

II. Some Sofas are not 

Curtains.

किन: 

सभी चेयर सोिा हैं। 

केवल कुो सोिा बेड हैं। 

कोई बेड कीेन नहीं हैं। 

क्तनष्कषथ: 

कुो सोिा बेड नहीं हैं। 

कुो सोिा पद ेनहीं हैं।
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Statements: 

All Chairs are Sofas. 

Only a few Sofas are Beds. 

No Beds are Curtains. 

Conclusions: 

I. Some Sofas are not Beds. 

II. Some Sofas are not 

Curtains.
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Statements: 

Only a few CX24 are AZ26.

Some DW23 are CX24.

No HS19 is AZ26.

Conclusions-.

I. At least CX24 are HS19.

II. All AZ26 being DW23 is a 

possibility.

किन: 

केवल कुो CX24 AZ26 हैं। 

कुो DW23, CX24 हैं। 

कोई HS19 AZ26 नहीं ह।ै 

क्तनष्कषथ-. 

I. कम से कम CX24 HS19 हैं। 

II. सभी AZ26 के DW23 होने की

संभावना ह।ै
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Statements: 

Only a few CX24 are AZ26.

Some DW23 are CX24.

No HS19 is AZ26.

Conclusions-.

I. At least CX24 are HS19.

II. All AZ26 being DW23 is a 

possibility.
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=

J is sister of T. T is married to D. D is father of R. M is son of  H. T is 

mother-in-law of H. D has only one son and no daughter. J is married to B. 

L is daughter of B.

J, T की बहन ह।ै T, D से क्तववाक्तहत ह।ै D, R का क्तपता ह।ै M, H का पतु्र ह।ै T, H की सास 

ह।ै D का केवल एक पतु्र ह ैऔर कोई पतु्री नहीं ह।ै J, B से क्तववाक्तहत ह।ै L, B की पतु्री ह।ै

How is L related to T? / L, T से क्तकस प्रकार संबंक्तधत ह?ै

1. Niece

2. Sister

3. Can’t be determined

4. Mother

5. None of these
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There are six persons i.e. M, N, O, P, Q and R, they have different weight. No 

two persons have same weight. Only two persons are lighter than M. N is 

heavier than M but lighter than O and P. R is heavier than Q but lighter than P. P 

is not the heaviest. The weight of 2nd heaviest person is 85 kg and the weight of 

lightest is 42 kg.

ोह व्यक्ति यानी M, N, O, P, Q और R हैं, उनका वजन अलग-अलग ह।ै क्तकन्हीं दो 

व्यक्तियों का भार समान नहीं ह।ै केवल दो व्यक्ति M से हल्के हैं। N, M से भारी ह ैलेक्तकन 

O और P से हल्का ह।ै R, Q से भारी ह ैलेक्तकन P से हल्का ह।ै P सबसे भारी नहीं ह।ै 

दसूरे सबसे भारी व्यक्ति का वजन 85 क्तकग्रा ह ैऔर सबसे हल्के व्यक्ति का वजन 42 

क्तकग्रा ह।ै
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There are six persons i.e. M, N, O, P, Q and R, they have different weight. No 

two persons have same weight. Only two persons are lighter than M. N is 

heavier than M but lighter than O and P. R is heavier than Q but lighter than P. P 

is not the heaviest. The weight of 2nd heaviest person is 85 kg and the weight of 

lightest is 42 kg.
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Seven teachers Kee, Jee, Ila, Riz, Guru, Div and Chinu sitting in a straight line 

facing north, not necessarily in the same order. Ila sits at one of the extreme 

ends of the line. Guru has as many teachers sitting on his right, as on his left. 

Riz sits third to the left of Chinu. Jee sits on the immediate left of Div. Jee does 

not sit at any of the extreme ends of the line.

सात क्तशक्षक की, जी, इला, ररज, गरुु, क्तदवा और चीन ूएक सीधी रेिा में उत्तर की ओर 

मिु करके बैठे हैं, जरूरी नहीं क्तक इसी क्रम में हों। इला पंक्ति के क्तकसी एक अकं्ततम ोोर पर 

बैठी ह।ै गरुु के दायीं ओर उतने ही क्तशक्षक हैं क्तजतने उसके बायीं ओर बैठे हैं। ररज़, चीन ूके 

बायें से तीसरे थिान पर बैठा ह।ै जी, क्तडव के ठीक बायें बैठा ह।ै जी पंक्ति के क्तकसी भी

अकं्ततम ोोर पर नहीं बैठा ह।ै
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Seven teachers Kee, Jee, Ila, Riz, Guru, Div and Chinu sitting in a straight line 

facing north, not necessarily in the same order. Ila sits at one of the extreme 

ends of the line. Guru has as many teachers sitting on his right, as on his left. 

Riz sits third to the left of Chinu. Jee sits on the immediate left of Div. Jee does 

not sit at any of the extreme ends of the line.
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Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.

एक रैक्तिक पंक्ति में उत्तर की ओर उन्मिु व्यक्तियों की संख्या अक्तनक्तित ह।ै Y, G के बाए ंसे पांचवें थिान 

पर बैठा ह।ै Y और P के बीच दो व्यक्ति बैठे हैं। P क्तकसी एक अंक्ततम ोोर से दसूरे थिान पर बैठा ह।ै Z और 

G के बीच पांच व्यक्ति बैठे हैं। Z, Y का क्तनकीतम पड़ोसी नहीं ह।ै क्तजतने व्यक्ति G और Z के बीच बैठते 

हैं, उतने ही व्यक्ति Z और Q के बीच बैठते हैं। क्तजतने व्यक्ति P और Y के बीच बैठते हैं उतने ही Y और X 

के बीच बैठते हैं। Q, ोोर से तीसरे थिान पर बैठता ह।ै
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Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.
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Eight persons A, B, C, D, E, F, G and H are sitting on a circular table facing the centre

of the table but not necessarily in the same order. H and F are facing each other. H and 

A are not immediate neighbours of each other. C is not immediate neighbour of H. 

Two persons sit between A and G. B sits immediate left of G. Two persons sit between 

B and E. One person sits between A and D. D and G are not immediate neighbours of 

each other.

आठ व्यक्ति अिाथत ्A, B, C, D, E, F, G और H एक वरत्ताकार मेज के चारो ओर कें द्र की ओर उन्मिु 

होकर बैठे हैं लेक्तकन आवश्यक नहीं क्तक समान क्रम में हों। H और F एक दसूरे की ओर उन्मिु हैं। H और A 

एक दसूरे के क्तनकीतम पड़ोसी नहीं ह।ै C, H का एक क्तनकीतम पड़ोसी नहीं ह।ै A और G के बीच दो व्यक्ति 

बैठे हैं। B, G के ठीक बायीं ओर बैठा ह।ै B और E के बीच दो व्यक्ति बैठे हैं। A और D के बीच एक व्यक्ति 

बैठा ह।ै D और G एक दसूरे के क्तनकीतम पड़ोसी नहीं ह।ै
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